
SAP ABAP table GLTO2 {FI-SL Table with Objects, Structure Corresponds to GLT2}

GLTO2

RCLNT [CLNT (3)]

RLDNR [CHAR (2)]

RRCTY [CHAR (1)]

RVERS [CHAR (3)]

RYEAR [NUMC (4)]

ROBJNR [CHAR (18)]

SOBJNR [CHAR (18)]

OCLNT [NUMC (3)]

RTCUR [CUKY (5)]

RUNIT [UNIT (3)]

DRCRK [CHAR (1)]

RPMAX [NUMC (3)]

RCOMP [CHAR (6)]

ROBUKRS [CHAR (4)]

RBUSA [CHAR (4)]

RSUBD [CHAR (3)]

RMVCT [CHAR (3)]

RASSC [CHAR (6)]

RKOKRS [CHAR (4)]

SCOMP [CHAR (6)]

SOBUKRS [CHAR (4)]

SBUSA [CHAR (4)]

SSUBD [CHAR (3)]

SMVCT [CHAR (3)]

SASSC [CHAR (6)]

SKOKRS [CHAR (4)]

AUNIT [UNIT (3)]

CSPRED [CHAR (4)]

QSPRED [CHAR (4)]

T000

MANDT [CLNT (3)]

 GLTO2-RCLNT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 GLTO2-ROBUKRS = T001-BUKRS 

0..N

{0,1}

 GLTO2-SOBUKRS = T001-BUKRS 
0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 GLTO2-AUNIT = T006-MSEHI 

0..N

{0,1}

 GLTO2-RUNIT = T006-MSEHI 
0..N

1

T821S

MANDT [CLNT (3)]

SPRED [CHAR (4)]

 GLTO2-CSPRED = T821S-SPRED 

0..N

{0,1}

 GLTO2-QSPRED = T821S-SPRED 
0..N

{0,1}
T852

MANDT [CLNT (3)]

RSUBD [CHAR (3)]

 GLTO2-RSUBD = T852-RSUBD 

0..N

{0,1}
 GLTO2-SSUBD = T852-RSUBD 0..N

{0,1}

T856

MANDT [CLNT (3)]

TRTYP [CHAR (3)]

 GLTO2-RMVCT = T856-TRTYP 
0..N

{0,1}  GLTO2-SMVCT = T856-TRTYP 
0..N

{0,1}

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 GLTO2-RASSC = T880-RCOMP 

0..N

{0,1}

 GLTO2-RCOMP = T880-RCOMP 

0..N
{0,1}

 GLTO2-SASSC = T880-RCOMP 0..N
{0,1}

 GLTO2-SCOMP = T880-RCOMP 

0..N
{0,1}

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)] GLTO2-RLDNR = T881-RLDNR 
0..N

1

T894

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

 GLTO2-RVERS = T894-RVERS 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 GLTO2-RTCUR = TCURC-WAERS 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 GLTO2-RBUSA = TGSB-GSBER 

0..N

{0,1}

 GLTO2-SBUSA = TGSB-GSBER 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 GLTO2-RKOKRS = TKA01-KOKRS 

0..N

{0,1}

 GLTO2-SKOKRS = TKA01-KOKRS 

0..N

{0,1}


